Review and EQAO Practice for Chapter 7 — Angles
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P Four streets are pictured. 2 0 ‘ G

B Which of the following composite shapes has
900° as the sum of its interior angles?
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Bl Consider the diagram below. The following figure is a 15-sided regular
polygon.
68° X
X
61°
What is the value of x?
a ol°
b o68°
¢ 112° . . : .
What is the value of x shown in the diagram?
@ 119°
OF
b 34°
¢ 46°
d 48°
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FE What is the value of x in the diagram below?
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B Consider the diagram below.

37°

30°

What is the value of x in the diagram?
a 30°
b 53°
60°
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B The sum of the interior angles of a polygon

is 2700°.

How many sides does the polygon have?

a 19
(b) 17
¢ 15
d 13

B Consider the regular octagon below.

What 1s the value of x?

a 15°
b 30°
() 45°
d 60°
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?«o \ 2 Six and Five Sides

A regular hexagon and a regular pentagon are joined as shown below.

Complete the table below with the values of x and y. Justify your answer using geometric propeifties.

Value Justification using geometric properties /
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Zol S i A Schoolyard

A schoolyard 1s in the shape of a regular decagon, as pictured below.
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Complete the chart below with the values/of x and v. Justify your answers using geometric properties.

Value

I Justification using geometric properties
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Daring Diagram

A diagram 1s shown below.

Complete the table belg

properties.

w with the values offx and y. Justify your answers using geometric

Value

I Justification using geometric properties
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Diamond Cut

The diagram below shows a regular decagon and three isosceles triangles.

Determine the value!

of x and y. Justifyf your answers using geometric properties.

Value

I Justification using geometric properties
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